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[ Questions | Answers | Note |
1) |P=-m2-5=-(m?+5)<0forx€R (C) 1
2) Let t=x3, t2-5t+4=0, t, =land t, =4 then xlzlandx2=1/2 A) 1
st x9N A2 e XD 1
l - = = 3 C
I-(5pts) 3 sk 21x2 —3x+1 x-1(x=12x-1) x-12x-1 ©
1
4) f(1)xf(2) <0 then (3m—2)(8m+l)$0...me}—%;g[ (B)
By £ix)=250n (xz)Zxcos (xz)z 2xsin(2xz) (A) 1
1a) | A20, m* +5m+420,m€]—o; —4]JU[-1; +oof 1
1.b) S=-2(m+2) & P=—m 2S - P+ 8=m?then m(m+3) =0, m=0 (accepted) & | |
II-3pts) | 7 | m= =3 (rejected)
2) fis defined over R..x%> +2(m+2)x-m>0forx € R, then A<0...... me[—4;—1] 1
e —l1<—cosx<|lthenl<2—cosx<3then x+l<x+2-cosx<x+3 1
11I- 1) e x + 1 < f(x) then lim f(x)2 lim(x+1) = +o0 then lim f(x)=+o0 l
3 t X—>+o0 X—r+n X—>+0
(3pts) 2) lim f(x)=f(0) = lirgl f(x)=1 then fis continuous at 0 1
x—0~ x—0*
8 2 Ya
1) U[=:&Uq=—8 e
&) iy
u .U, : i : : . 1
2) U -UyzU,-U & T = TJ; then (U ) is neither arithmetic, nor geometric
0 |
= 1
i —:l Un+4-3 g
nrl . el == =——, then (V) is a geometric sequence with
3ay v, Un-3 Un-3 3
common ratio r = —% and the first term Vy =Uy -3 =1
1B ‘
IV-(Spts) V. =Vyxr" = (— :)
3
3.b) =
U, =V, +3=(——J +3
n+l 1
]—(_é) & 4 1 n+l
| | 4 3
3.c) u
3 l n+l
T,,=S+3(n+l):z 1- o +3(n+1)
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D 1/ -hherR=5 1
2.a) xA2+yA2—4xA+2yA=OorlA=\/§,thenAe(C) /2
S (T) tangent to (C) at A, then (T) L (1A) l
V-(pts) | 2P| Let M(x, y) € (T) then AM.TA = 0, (x-3)+2(y 1) =0, (T): X+2y-5=0
24+1+b 1%
3) (d) tangent to (C) then d (I, (d)) = «/glel =+5.b=-3 +~/10 or
b=-3-410
fadmits at x = —3 a local maximum, then f'(=3)=0. Vs
2
1) £(0) =slope of tangent to (C) at D =é =4 A
f'(2) = slope of tangent to (C) at E = slope of the straight line of eq. (y = — x) = —] l
VI-(6pts) 2) =2 e D;& (C) admits two semi-tangents at (—2; 0), then f is not differentiable at x = :/z
—2. The curve is not cut at (=2; 0) then f'is continuous at (=2; 0) Y2
3 (T) // (d), then slope of (T) = —1 and E(2;2) €(T) then(T):y=—x +4 |
4.a) | f(x)#0 Then D, =]—oo;—4[u]—4;—2[u}-2;1[u]1;+oo[ 1
[ = —fI(O) ! ___4' R l
4.b) | h'(0) TR 1
A) f(2)=—4andf'(2)=—9....{l‘§11%==‘_’9....a=—1&b=3 1%
1) lim f(x) =+0; lim f(x)=—0 iz
fi(x) =-3x2 +3. X |- = | +00 1%
~ ! o O + O —
£6) tf((x)) - 0
X 0
S _.4/ \ o
2.b) | (=x=2)(x=1)? =-x> +3x -2 =f(x) Z
f(0) = =2 .....the intersection with y-axis : (0, =2) Ya
2.c) [ {x)=0.(—x—2)(x-1)> =0 .x=-2 oF x=1..the intersection with Xx-axis: (=2,.0)
and (1;0)
3) f(2x) —x) +f(x) = f(=x) +f(x) = —4 = 2y, then [ is the center of symmetric of (C). 1
o 4 | f(x)=-x+2, (~x-2)(x-1) ==x-2, x € {~2,0,2}then (-2 ; 0), (0;-2),2;-4) |1
(9pts)
5)
6) | f(x)>-x~2..(C)isabove (L). x € J-o0;-2[ U J0;2] %

Page 2 of 3




VIII-
(Spts)

12

27 S T x —l+\/§
1) cos(—s—) =2cos (5) = i
— cos(2 —(1-2sin? in? > . : 17
2.a) : .COS( x)=1 (l. = x): 2.sm X _ tanx since that sinx # 0. :
sin(2x) 2sIn X COS X 2sIn X COS X
3 V2
l—cos(%) |,£ ]
| 2
t —_— = ~ = = :2—- 3
2.b) an[ 12) = T V3
sin g )
sin| = + x |xsin T _x|=|sin - cosx+cos’E sinX || sin T |cosx —cos| = |sinx v
3 3 4 3 3 3 3
3)

S5 e
- —f‘COSX = ES

e RN CE R TR i
nx =—COS“X——SIn“X=—-—8SIn"X
4 4 1
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